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1) Make 25 £ divisible by 3. 2 25
2839510 =3 9.5 55 8
3) 2Q% of =
)2@ 0O %5 T
4) What is 45% written as a decimal? (O .4 g
—

5) What type of decimal is 3.547? v 9}‘,{ ,Vanv
6) How many 1/2 hours in 2 hours? g+
neoFe2= |
8) Which is greater - 1/4 or 1/37?

3 A

9) What is the base? '* "

ib c) Area = 30 cm? ("\) -(‘t?’)
S hase— (—ﬂ) ‘\'('*l)_.__\l
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6.1 Solving Equations

Focus  Solve equations by inspection and by

systematic trial.
Look at the algebraic expressions and equations below.
Which ones are equations? Which ones are expressions?
How do you know?
3n+12 =12 Sx+ 2 5x+2=27

r
Spres=n-QoHE)

cquation - (@as hoie an ;\}
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Janet walked-mtetebof 17 km in February.

She walked the same number of kilometres
in each of the first 3 weeks.

4 Then she walked 5 km in the fourth week.

How many kilometres did Janet walk
in each of the first 3 weeks?

220

T2 t+s=

UMNIT &: quuatlons
“iarable

Weak 1 Week 2 Weak 3 Weoek 4

ALl

Let d rdpresent the distance Janet walked, in kilometres,
in each X the first 3 weeks.

So 3 ¥ d, or 3d, represents the total number of kilometres
Janet walked in the first 3 weeks.

She walked 5 km in the fourth week, for a total of 17 km.
The equation is: 3d + 5 = 17

When we use the equation to find the value of d, we solve the equation.

[} [P [P U I B ———

Writing and solving
equations is a useful
strateqgy for solving
problems.
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Method 1: By Systematic Trial

Systematic trial means
3d+5=17 choosing a value for the
We choose a value for d and substitute. variable, then checking by
Tryd =2 3d+5=3xx2+5 substituting. Use the answer

—g+5 and reasoning to choose the
11 next value to check.

11 is too small, so choose a greater value for d.

Tryd=5. 3d+5=3%x5+5
=15+5
=20

20 is too large, so choose a lesser value for d.

Tryd =4 3d+5=3%X4+5
=12+5
=17

This is correct.
Janet walked 4 km during each of the first 3 weeks of February.
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Example

For each situation, write an equation.
Ben has a large collection of baseball cap
a) Ben takes y caps from a group of 18 caps.

There are 12 caps left. \ 2 :, g . r,
How many caps did Ben take away? |
Solve the equation by inspection. a—— ﬂ\

b} Ben put k caps in each of 6 piles.
———
There are 108 caps altogether.
How many caps did Ben put in each pile?
Solve the equation by systematig ixig
¢) Ben shares n caps equally amolg 9 pil
There are 6 caps in each pile.

How many caps did Ben have?

Solve the e . inspection. ﬂ — Q pul ?
d) Ben combirfes p grougs of 4 caps each into one large group. ‘

He then takes away 7 caps. There are 49 caps left. n - C1

How many groups of 4 caps did Ben begin with? - =

Solve the equation by systematic trial. b

- PRRRIRAR P
de—'llL(_ﬁ
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Pﬁ SN
a) 18 subtract y equals 12.
18—y=12
Which number subtracted from 18 gives 127
We know that 18 — 6 =12; soy = 6.
Ben took away 6 caps.

b) 6 times k equals 108.

&k =108
Try k= 15. 6k = 6(15) Recall: 6(15) = 6 x 15
=00

90 is too small, so choose a greater value for k.
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9

Try k = 20. 6k = 6(20)

=120
120 is too large, so choose a lesser value for k.
Tryk=17. 6k = 6(17)

= 102
102 is too small, but it is close to the value we want.
Try k = 18. 6k = 6(18)

=108

This is correct.
Ben put 18 caps in each pile.

n divided by 9 equals 6.
n+9=6o0r % =

Which number divided by 9 gives 67
We know that 54 = 9 = 6; son = 54.
Ben had 54 caps.

d) 4 times p subtract 7 equals 49,

4p —7=49
Since 4 % 10 = 40, we know we need to start with a value for p greater than 10.
Tryp=12. 4p—T7=4x12-7

=48 -7

= 41, which is too small
41 is 8 less than 49, so we need two more groups of 4.

Tryp =14 dp—-T7=4x14-7
=5 -7
=49

This is correct.
Ben began with 14 groups of 4 caps each.

April 20, 2017
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1. Look at the algebraic expressions and equations below. —_—
Which are expressions? Equations? 3
How do you know?

a) 4w = 48 b) g — 11 ¢) 3d+5
d) 35 = o) L7~ f) 6z+1=67

:L},g 6.1 Solving Equations 223
'ﬂ L)’VK\J, - |2 Y72 O 7
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3) Write an eguation you can solve to tind
how many CDs Shenker had to begin with.
b) Solve the equation.

. Write an equation for 8ach sentence.
Sol ch equation by inspection.
even more than a number is 18.

) Six than a number is 24. )
mes a number is 45. 3& C —_— ' D
d) A number divided by six is 7.
e) Three more than four times a number isb) C= L\‘ =

H
._Write an equation you couléuse to solve e 51:
Ive each eguatign by systematic trial. Nn= ' l

3) Aikotgught 14 DVDs for $18

She paid the same amount h DVD.

How much did each DVD cost?
b) Kihew co ectstcelets. She lost 14 of her bracelets.

Kihew has 53 bracelets left. ,_h\ +

How many bracelets did she have to begin with? $ i ‘ﬁ
¢} Manuel gets prize points for reading books.

He needs 100 points to win a set of tangrams. , q = Lfn-‘- 5

Manuel has 56 peoints. When he reads 11 more books,
he will have 100 points.
How many points does Manuel get for each book he reads?

April 20, 2017
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3. Shenker gives 10 CDs to his brother.
Shenker then has 35 CDs.
a) Write an equation you can solve to find
how many CDs Shenker had to begin with.
b) Solve the equation.

4. Write an equation for each sentence.
Solve each equation by inspection.
a) Seven more than a number is 18.
b) Six less than a number is 24.
) Five times a number is 45.
d) A number divided by six is 7.
e) Three more than four times a number is 19.

5. Write an equation you could use to solve each problem.
Solve each equation by systematic trial.
a) Aiko bought 14 DVDs for 5182, L-'— d —_
She paid the same amount for each DVD. ( 81
How much did each DVD cost?
b) Kihew collects beaded leather bracelets. She lost 14 of her bra eleis\ %7— - | "I‘
Kihew has 53 bracelets left. -3 l -5

Jhan « number
% 906

How many bracelets did she have to begin with?
Manuel gets prize points for reading books.

He needs 100 points to win a set of tangrams.
Manuel has 56 points. When he reads 11 more books, h = ﬁ %

he will have 100 points. ".
n=T0

How many points does Manuel get for each book he read

=165 \60.56: 4y
)\, +Ee=ToD
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